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Probability Ex 31.5 Q1

There are two bags.
One bag (1) Contain 6 black and 3 white balls

other bag {2} Contain 5 black and 4 white balls

one ball is drawn from each bag

P [One black from bag 1) = g
P[51]=%
£ {one black from bag 2) = g
p@ﬂ:%
P [One white from bag 1) = g
P[WI:J:%
P (One white from bag 2) =g
P[Wz:]:g

£ [Two balls of same calour)
= P[[WIAWZ]U [51“"'52]]
= P (Wy AW} + P (B A8
=P ) e we)+ e (8] (8,)

1 4 2 &

= _ W —+ — % —
3279 379

4 10

27 27

14

T 27

Fequired probability = ;

Probability Ex 31.5 Q2



There are two bags.
Bag (1) contain 3 red and 5 black balls

Bag [2) contain 6 red and 4 black balls

£ {one red ball from bag 1) = g
3
PlRy) = F
P [One black ball fram bag 1) = g
5
P[51]=§
£ {one red ball from bag 1) = 16_|:|
3
Plrg)= 2
P {one black ball from hag 2) = %
2
P(82) = T

one ball is drawn fraom each bag.

£ {one ball is red and the other is black)
=P [{Rl ~Es)w (8 “Rzﬂ

=P[R B+ (B, Ry

plr) P (Bz)+P(B1)P [R2)

3 2 5 3
= —x—+—x—
2 5 8 &
B 15
S 40 40
21
40

Fequired probability = %

Probability Ex 31.5 Q3



Given, box contains 10 black and 8 red balls.
Twao balls are drawn with replacement.

(i)
] [E-u:uth the balls are red]
=P[Ry~ R2)
=P {RI] £ {sz
g g
= —w —
13 18
_1e
T 81

Required probability = ;

(i}
] [ﬁr5t ball is black and second is red]
=F[8 ~R)
=P (8) P (R)
10 g
= — W —
13 18
_20
T 81

Fequired probability = %

fii)
£ fone of them red and other black)
=P nr)w (R~ E)
=P8 nR)+P (R~ B)
=p [B]P [R] + £ [R]P [B]
10 g g 10
et et W ¢ i
13 18 18 18
_20+20
~ 81
40

Fequired probability =%

Probability Ex 31.5 Q4



Twio cards are drawn without replacem ent.

There are total 4 ace.
A = Getting Ace

P{Exactly one ace out of 2 cards)

-ejan 7)o (Ana)

P[A]P[ ]+P(A) {j}

4 48 48 4
E2't1 52’51
96

G653
3z

221

32
Required probahility = —
| p ¥ 551

Probability Ex 31.5 Q5

Given,
A speaks truth in 75% cases.
& speaks truth in 80% cases.

PEA}: ( ) IDD

P[S]—-——— (5) =

£ {4 and 8 contradict each other)

{8 (i)
-efanB)+r[ans)
MMPE%PFPWI

100 100 100 100
1500 , 2000

1000 10000
3500
10000

35%

Required probahbility = 35%

Probability Ex 31.5 Q6



Given,

(i)

Probability of selection of Kamal {x]=

W~

p{x}:%

Probability of selection of Manika [M) = %

P M) =

|~

£ [Both of them selected)

Required probability = %

£ [Mone of them will be selected)
=F (E ™ E)

-+{F) 7

=[1-p)][1-7 (m)]
e

=

| ma

|

]
E

-
iy

Fequired probability = %



(i)
P {atleast one of them selected)
=1-7 [Nune af them EEIected]

= 1—P(Em?)
- 1-p (M) e [K)

= 1-[1-p, (p)][1- P (K)]

Fequired probability = %

(iv)

£ {only one of them will be selected)
= P[(K ﬁ.ﬁ_f?’)u (E(“.M)]

- e[k ab)+ e[k Am)

- e (k) M)+ e (k) (M)

=%[1—P[M]]+[1—P[K}]%

1
=_1_l+1_lll
3 c 2|'s
14 21
= . —4+ .=
2'c 3%
4z
T 15 1%
B
15
-
c

Required probahility =%

Probability Ex 31.5 Q7



B ag contain 3 white, 4 red, 5 black balls.
Two balls are drawn without replacement.

2 [One ball is white and ather black]
= P[[W ~8)w (B ﬁW}]
=P[Wﬁ5]+P[BﬁW}

P{W]P[ S]P[

3 5 5 3

" E I
15 15

T 13z 13z

30

132

5

22

\\_,.r’

Required probahility = %

Probability Ex 31.5 Q8

A& bag contains B red and 6 green balls.
Three balls are drawn without replacement

P [at least 2 balls are green)
=P[(G1n G R)w[GIAR A G R A GG} w (G~ Gan Gyl
=P (G G R +P[G ARy G +P[R m G Gl +P[Gy n Gy Gy)

(2 () ()
PR e [%]P [GG?] +£[G,)P [GIJP [ﬁ]

s} 5 2 s} 2 5 2 ] 5 s} 5 4

— H——t — K — W —t — K — W — F — H— X —

14 13 12 14 13 12 14 13 12 14 13 12

1 1 1
X13%15 x (240 + 240 +240 + 120)
14 713

240

14 %13 =12
5

13

Required probability = 15_3

Probability Ex 31.5 Q9



. . . 1
Given, Probability of Arun's [4) selection = 7

)=

fa

=

(4
Probability of Tarun's(T) rejection = %

2

K]

°(7)

P(E)=1-P{A]

£ [at least one of them will be selected)

=1- 7 [Mone of them selected)
=1-P(Hm?)
=1-P(H)P(?)

2 3

=] -
2 4

1
2

. . 1
Required probability = >

Probability Ex 31.5 Q10



Let £ be event of occuring head in a toss of fair coin.

P(E) =

M|

P(._E)=

P =

A wins the game in first or 3rd ar 5th throw, ...
Probability that 4 wins in first throw

-PlE)= 3

Probability that 4 wins in 3rd throw
.y (._E)P (._E)P (£)

(3 G

(3

Probability that 4 wins in 5th throw
- (._E)P (._E)P (E)P (E)P ()

() ()
(3

Hence,
Probability of winning A

SONEAS

]
M|
=

+
_—
M| =
—
[X}

+
_—
M| =
—
s

+
1

Since &, = 7 for G.P.
1-r

M|~
—
|
_—
M| =
—
&)



M|
* =
w| f :
N

Q1] BRI e

Probahility that 8 wins=1-p2 (A wins)
2

=1-=Z
3

1
3

Required probability = %
Probability Ex 31.5 Q11

Two cards are drawn without replacement from a pack of 52 cards.
There are 26 black and 26 red cards

# {one red and other black card)
=r[frR~8) (B AR)]
=P (R~B)+P[BAR)

=P[R]P[§]+P[B]P[g]

26 26 26 26
— K=t ===
52 51 52 51
13 13
_+_

51 51

26

51

Fequired probability = %

Probability Ex 31.5 Q12



Tickets are numbered from 1 to 10,
Two tickets are drawn,

Consider, & = Multiple of 5
& = Multiple of 4

P{A]=ﬁ [Since 5, 10 are multiple of 5]
1

p[A)= c
2

ple)=—
10

e8] = % [Since 4, & are multiple of 4]

P {One number multiple of 5 and other multiple of 4)
=e[(An8)v (B~ )]
=P[.-4/‘~.S:]+P[:Sﬁ.-4]

=P[A]P[%J+P[S]P[g]

1 Z
+ox=
£ 9

| —

=

o | ma

]
K

s
o

Fequired probability = 415

Probability Ex 31.5 Q13
Given, In a family Husbhand [#) tells a lie in 30% cases and Wife (W) tells alie in 35%

P {H) = 30%, P(s?) - 70%

P (W) =35%, P(MT) - 65%

£ [Both contradict each other)
= P[(H (“.W)U(E(“.W)]

e[ aw) e [HAw)

= e fm)e W)+ e fH)ev)

30 65 70 35
x + x
100 100 100~ 100
1950 + 2450
10000

4400
10000
= 0.44

Fequired prabability = 0.44

Probability Ex 31.5 Q14



Given, Probability of Hushand's {+) selection =

P[H

T

Probability of Wife's () selection =

] WL N

Py =

(a)
P{poth of them will be selected)
= [:."-." I W:]
= PH)P(w)
1 1

—_ i —
FA-

|~

]
iy

Required probability = %

(b)

P{Cnly one of them will be selected)
=P[(H (“.W)U(E(“.W)]

= [ W) +e [Haw)

—efye Wwlve(r)e )

- P ()1 - W]+ [1-p ()] )
-2

+

| —

=

=

~d|
m|

]
=
|5
[

]

I ma

Required probability =

=1

el N [



(=)
P [Mone of them selected)
(7 )
(7)o
={r-P () (-2 ()

PN | P
7 =

& 4

= — W —

7 5

_ 24

35

Required probability = %

Probability Ex 31.5 Q15
& bag contains 7 white, 5 black and 4 red balls,
Four balls are drawn without replacement

£ {at least three balls are bladk )

=P (3 black balls and one not black or 4 black balls)

=P (3 black and one not black) +# {4 black balls)
i Scydle,  Sc,
- 16C4 16C4
5! 5!

3121 411! . n nl
= Since “C, = ———
16! Tortfn-r)t

41121

E>-<11+5
2

16.15.14.13
4.3.2
(110 +5)
1520
115
1320
23

364

) . o3
Required probability = ——
i a ¥ Ja4

Probability Ex 31.5 Q16



Given,
A speaks truth 3 out of four times
& speaks truth 4 out of five times
Z speads truth 5 out of siz times,

= P[A]=§,P[5]=%,P[c]=§

£ [Reported truth fully by majority of witnesses)
=P{(.-4ﬁﬁﬁa)u(.ﬂﬁgﬁC)u(EﬁSﬁC)u[ﬂﬁSﬁC])
-pfansnclerlanBac)ipldnsnc)srfansnc)

= £ (A)F (8)P (E) +# (A)P (E)P (C)+p (E)P (8)e (C)+ e (a)e (8)e (C)

P[ﬂ}P[B}{l-P[Cl}”{f“l{l-P[BJ}P[C}+{1-P{AJ}P[B}P[C}+P[ﬂ}PEEIP{C}

5 314 5 3 4 k&
—+|l-=|=- =+ =.—.=
O e o R RS
1
6

+

r_nl.p.
| O

[
)

|
| w
[

+

|
N

|,_. | L -P~|
| -{-\~|l'.u_'l
+

1
3
1

+ =+
0 8 & 2
12+ 15+ 20+ 60
120

_ 107
T 120

Fequired probability = %

Probability Ex 31.5 Q17
Bag 4 has 4 white balls and 2 black balls;
Bag & has 3 white balls and 5 black balls.

(i} {4 and Bw]=P[AW]P[BW]=g§=%
(i} 2 (45 and 8,) = 2 (4,) 2 (8,) - %%%

(i) #{Ay and 8, or Ay and 8, ) =2 (A )P (B2) +7(42) P [Bw )

45 2 3
= —, —+ —. =
68 6 8
20 6
= 4+
5 48
26 13
T 45 24

Probability Ex 31.5 Q18



Number of white balls = 4
Number of black balls =7
Number of red balls=5
Total balls = 16

Nurmber of ways in which 4 bals can be drawn from 16 balls = 52,
Let A = getting at least two white ball = getting 2, 3, 4 white balls

Nurmber of ways of choosing 2 white balls = *C, = Yo,
Nurmber of ways of choosing 3 white balls = *Cy = %0y
Nurmber of ways of choosing 4 white balls = *C, = 132,

o o S TR I o s oMb

pla)=
{ } 16C4 2LG

Probability Ex 31.5 Q19

Three cards are drawn with replacement from a pack of cards.
There are 4 Kings, 4 Queens, 5 Jacks,

£ {1 King, 1 Queen, 1 Jack)

=K nQnd)ufK adnQu(aknQdulngnk)ufrkni)ufQn Tnk))

=P AT +PKATAnQ)+P[TaKk n Q)+l [TnQnk)+r[Gnk nd)+r[QnTnK)

=P lK)e ) (k)p e (Q)+e ) k)P Q)+ P )P (Q)P (K] + P (@) k)P ()
+e(Q)e (7)e [x)

_t 44 444 444 4044 4044 44 F
2 52’52 52 G52 52 52 52 G2 52 52 G2 E2 E2 52 52 52 52

B &

©13.12.13

&

© 2107

. . &
Reguired probability = ——
i P ¥ 2197

Probability Ex 31.5 Q20



Given, Bag(l) contains 4 red and 5 black balls.
Bag {2) contains 3 red and 7 black balls

one ball is drawn at randam from each bag.

e [Balls are of different colours)
=P{{R1ﬁ52]‘-’[51“§2]}
= PRy~ B+ (B AR
=2 [r,)P[Bo) + 2 [81) P (R:)
4 7 L a9

BRI RETi]
28 1%
=4+ =

o 90

43
Q93

(i)
f= [E-aIIS are of the same culuur]
=P ({81 B2) v Ry~ R))
=P8, B,)+P (R Ry
=r(B,)e [B2)+ P [R1]) P [R2)

L7 4 3

e

910 9 10

35 12

_+_

o0 oo

47

o0

Required probability = %

Probability Ex 31.5 Q21



Let A be the event that "A hits the target”,
B be the event that™B hits the target” and
C be the event that "C hits the target”.

Then A, B and C are independent events such that

P(A)=-=;P(B)=2=3;P(C)=;=1

The target is hit by at least 2 shots in the following

mutually exclusive ways :

(i) A hits, B hits and C doesnot hit, i.e., A ~B~ C

(ii) A hits, B does not hit and C hits, i.e., A~ B~C

(iii) A does not hit, B hits and C hits, i.e., AmB~ C

(iv) A hits, B hits and C hits, i.e., A ~B ~C

Hence, by the addition theorem for mutually exclusive

events, the probability that at least 2 shots hit.

= P(i) + P(ii) + P(iii) + P(iv)

=P(ARB ~C)+P(A~BAC)+P(ARBAC)+
P(A~Bn~C)

=P(A) P(B) P(C) + P(A) P(B) P(C) + P(A) P(B) P(C) +

P(A) P(B) P(C)

=P(A) P(B) [1 - P(C)]1+ P(A) [1 - P(B)] P(C) +

[1 - P(A)] P(B) P(C) + P(A) P(B) P(C)

=5><5><ll:1—1}l+5><(1—5)><1+(1—E Wiyt rlala
2 3 2 3 3 2 3

Lo ix (@) x4 (xix1tixixt
2 32 E: %- E 2 3 2 3

=0+-+-+-= -
. B B B B

Probability Ex 31.5 Q22



Given,

The probability of 4 passing exam =

The probability of & passing exam =

And they are independent.

= P[A]=§,P[B]=g
(i)
P [Only A passing the exam)
-p[a~E)
= P4 (8]
-P(a).{1-# (&)

-3

2
g1

(il
£ {only one of them passing exam)
=P{(Hﬁ§)u(ﬁﬁ5))
-p[anB|+r[ans)
=P[A]P(E)+P(E)P[5]

oA fa-r (o) i-r(a)e o)

(-9

oA
=

I

W |

[
W | ra

1t

Ol
+

o "~|:'|-""J

|

I
]

+
|

o

D:l.p.m| |
2|5 2w e
o
=

Required probability = g

Probability Ex 31.5 Q23

o oo ma



Given,
Urn A contains 4 red [R;) and 3 black [&;) balls

Urn & contains 5 red [R;) and 4 black (8,) balls
Urn € contains 4 red {R;) and 4 black [83) balls.

P [3 balls drawn consists of 2 red and a black ball)
=P[Ry ARy Ry U Ry A By Ry w (By A Ry R
=P[Ry Ry R+ PR m By B+ P (B~ By RS
=P[R ]+P[R ]+P[R ]+P[R ]+P[52]+P[R3]+P|{51]+P[R2]+P[R3]
(453,444,354

98 Y98 F7 98
_ BO+64+60
N o4
_204
504

17

4z

Required probability = %

Probability Ex 31.5 Q24



Given,
Probability of getting A grade in mathematics (m) = 0.2
= flm)=0.2

Probability of getting 4 grade in physics (p) = 0.3
= Plp)=03

Probability of getting A grade in chemistry [p)=0.5
= Plc)=0.5

(i)
P lGetting A grade in all subjects)
=P[mnpnc)
=e(m)+r[p)+P[c)
=0.2=x03=05
=0.03

Fequired probability = 0.03

(i)
P [Getting A in no subject)
=P(n_7ﬁ,5ﬁ5)
=P(n_’.-)+P(,E)+P(E)
= (-2 (m)){1- 2 (p)){1-2 ()
=f1-0.2){1-0.3){1- 0.5)
- (08).7)0.5)
=0.28

Required probahility =0.28

fiii}
P Getting A grade in two subjects)
=P((mﬁ,ﬂﬁE)u(mﬁﬁﬁc)u(aﬁpﬁc))
=P[m]P[p]P(E)+P[m]P(,E)P[c]+P(E)P[p]P[C]
=Pm)e(p){i-2 (o)) (m){1-2 (p)) P e) + 1- P ()P (P} P [c)
=[0.2){0.3){1-0.5)+{0.2){1- 0.3){0.5) +[1- 0.2){0.3){0.5)

Probability Ex 31.5 Q25



Sum of 9 can be obtained by
£ ={f3,8),{45).(54),(6,3)}

Probahility of throwing 9 = %
P[E:l:é, P(E]=§

= pla)=rle)=

= rfa)-rle)-

A and & take turns in throwing two dice.
Let A starts the game.

£ [A wins the game)
=P(Huﬁﬁgﬁﬂuﬁﬁgﬁﬁﬁgﬁﬂu...)
=P{A]+P(Eﬁ§ﬁ A)+P(Eﬁ§ﬁﬁﬁ§ﬁ .-4)+...

=p(ay+e(a)e(B)p(a)+o(a)e (&) (a)p[E)p (a)+ ..

1 881 888¢81
=_4+-_ . 4., =

9 9 989 9 9 9 9 9 g

1 av? eyt
=—|14|=| +|[=]| +...

a a a

N N [Since for a G.P. with first term 9 and common ratio r,
== e
| 2 S =
1-18 =T 1_r
i =
1!
9,_5%
L g1
1] =1
3|B1- 64
_ =
17

£ [8 wins the game) = 1- £ {4 wins the game)
S1- 2
17
&
17

Chances of winning of 4: &8
9 B

T 17 17

=9:8

Chances of winning A: 8=9:8

Probability Ex 31.5 Q26



Let £ be event of getting a head.

1 = 1
P(E)= 2 :P(E)—E
If A starts the game,
= A wins the game in 1%, 4% 7% . toss of coin.

P[4 wins)

Since 5 = il ﬁ:urG.F‘.}

]
1-r
- (3
i P

]
M|
—
| =
|~
| |

| M=
T 1T

& wins in 2™, gt g™ toss of cain

£ (8 wins)
—P[EAEVEREREREREY.]
—P[EnE)+P(EAEREAEAEU) ...
-r[E)e(e)+r [E)r [E)P(E)P(E) P (E)+ .



Since for G.P,
1 1
4 17 Sy = —
1-|= 1-r
2
1] 1
4 1—3
L a
_ i[#
417
2
=

2 [C wir'|5] =1-7 [A win5]—P [S wir'|5]
4 2

=1-T_=
F—

-l

. 4 2 1 .
Probahilities of winning 4,8 and C are i3 and < respectively.

Probability Ex 31.5 Q27



Let £ be the even of getting a six

P{E}=1

3

= 5

plEl=2

E)- 2
A wins if he gets a six in 1st or 4th or 7th... throw

. . 1
A wins in first throw =2 [£) = =

A wins in 4th throw if he fails in 17, & fails in 2™, © fails in 3" throw.

Probability of winning A in 4th throw
-r[E)P[E)P [E)P (5)

5% 1
)2
Similarly, Probability of winning A in 7th thrwo = 2 (E)P (E)P (._E)P (._E)P (._E)P (E)P [E]
(571
-5
Hence, probahility of winning of 4

1 (sY 1 sy 1
=2 +|2] . Z+|2] =+
Y - Y

]
0| =
=
+
—
0| tn
—

w

+
—
o
—
[

+
| I

[y
[y

. E}
== — ¥ g, =—— forG.P.
]3] sing 8, = — far }

[nj}
—
I
e
o | tn

]
| =
|
—
|
| =
8]
o

1 216
= W —
6 o1
_ 36
91

& wins if he gets a six in 2nd or 5th or 8th ...throw.



g wins in 2nd throw = £ (E)P[E]

-(Z)G)

E wins in 5th throw if A fails in first, & fails in 2nd, < fails in 3rd, A fails in 4th.

Probahility of winning & in 5th throw

=P(E}P(E)P(E)P(E)P[E]
1E18

(&'
SR
SERURCR

=i ; Since 5 = for G.P.
26 £ 1-r
- (3)
i &)
5 1
IR 125
21a
5 [=zi8
T 36| 91
30
a1
Probability of winning C = 1- 2[4 wins) - 2 (8 wins)
36 30
91 91
25
a1
The respective probabilities of winning of 4, & and C are %, % and %

Probability Ex 31.5 Q28



Let £ be events of throwing 10 on a pair of dice,
£ - {(+8).(5,5). (6. 4)

P[E:l:;—?
p{g}=%
-2

A wins the game in first or 3rd or 5th throw, ...
Probahility that 4 wins in first throw =rfE) =

Probahility that A wins in 3rd throw
. (._E)P (E)P (£)

NEEAR S
12 1z
Probahility that 4 wins in 5th throw

=P(E)P(E)P(E)P(E)P[E]
NEEANEY
iz |1z
Probahility of winning A
(BB E )
=__ 4| = 4+ == —
12 Liz) L1z 12) L1z
1| [11]2 [11]4 }
=__ |1+ == + | — +...
12 12 12
i ; Since 5 = = ﬁ:urG.F‘.}
1z e < 1-r
(%)

Probability Ex 31.5 Q29

Hence,




Bag A has 3 red and 5 bladk balls
Bag & has 2 red and 3 black balls

one ball is drawn from bag 4 and two from bag 8.

£({0ne red from bag A and 2 black from bag & ©r one black from bag A and
1 red and one black from bag 83

= 2[Ry~ (28,))+ P (8, AR, A B)
plr)e (28,) +o(8) P (R) P (8,)

o)W | w

Required probability = 13_III

Probability Ex 31.5 Q30



Given,

Probahbility of Fatima's {F) selection=

-l

P{F}=% :>P{.E)=%

Probability of John's [1) selection = %

P[J]=% :P(3)=

4
5

(i)
£ [Both of them selected)
=P [F ~J)
-2()20)
1 1

= — ¥ —

FA-
1
35

Required probability = %

(i)
£ fonly one of them selected)
= P{(Fﬁj)u(.gﬁj‘))

=P[F]P(3)+P(E)P[J}

1. 4 6 1
= —X—=t—=x—=
F- T .
_4+6
35
_ 1o
5

~I| B

Required probahility =

(i)

-] ma

£ [Mone of them selected)
=F (.E e 3)
-+F)2D)
_5.%
7 b

_ 24
35

) . =
Reqguired probability = =—
| p ¥ 3c

Probability Ex 31.5 Q31



Bag contains 3 blue, 5 red marble. One marble is drawn, its colour noted and replaced,
then again a marhle drawn and its colour is noted.

()
P [Blue followed by red)
=P[5 ﬁR]
=7 (8) P (R)

2 &

i)

]
oo
o

()]
A

Required probability = %

(i)
£ [Blue and red in any order)
=~z ~nr)w{r ~B))
=P[5(‘\R]+P[Rﬁ5]
=r(g)r(r)+e[R)P (B)

3 5 5 3
= _—x—t —H—
2 8 B8 B
_ 30
64
15
3z

Required probability = %

fii)
£ [of the same colour)
=Ry ~az) o By~ B2
=P{RI]P{R2]+P[51]P[52]
5 &5 3 3
= x4+ ==
g 8 8 B
2540
B4
_34
T 64
_1?
T3z
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An urn contains 7 red and 4 blue balls.
Two balls are drawn with replacem ent.

(i)
P {Getting 2 red balls)
=7 {'Q1 o Rz}
= P [Rq) P (Re)

) . 40
Required probahbility = ——
i a ¥ 121

(i)
£ {Getting 2 blue balls)
=P (81~ By)
=P{51} £ [52]
4 4
B
11 11
16

121

Required probability = %

fii)
£ [Getting one red and one blue ball)
= 2[R~ BYw (B ~RY)
=p[rYP(B)+ P (B)P(R)
7 4 4 7
= X — — X —
11 11 11 11
_28+28
Co1z
L]

121

Fequired probability = %

Probability Ex 31.5 Q33



& card is drawn, out come noted, the card is replaced, pack reshuffled, another card
is drawn,

(i)
We know that, there are four suits club{C), spade (), heart () diamand (D), each contains
13 cards.
£ [Both the cards are of same suit)
= P[(Cyn o) (S~ 8a)w [Hy ~ H) [0y~ D5))
=P (C n C)+P (S S+ P [H A H )+ P (D) D)
=e(c)e(ca)+e(s)r(sa)+o (H) P [Hz) + P [D1) P [D2)
13 13 13 12 13 13 13 13
e e St i
E2 52 L2 L2 L2 52 &2 &2

(33

==

Required probahility =

£~

(i)
We know that, there are four ace and 2 red queens,
e [ﬁr5t card an ace and second card a red queen]

= £ [Getting an ace) P (Getting a red queen)
4 2

= W —

52 52
1

35

Required probability = %

Probability Ex 31.5 Q34



(1)

Qyt of 100 students two friends can enter the sections in

Let

(i)

A= event both enter in section A{40 smdents]
B = event both enter in section 8(60 students)

4|:|c Gl:lc
P{A] = 1':":'(_?22  F {5] = 1':":'(_?22

PlavB)=rla)+F(B)

4062 +E~IZI cz
1DDC~2

40 = 39 N G059
2 2

100=39
2

_ 7B0+1770

© 4950

_ 2550

4950

17

T 33

17

P{Bom enter same sech‘on] =
33

P [Both enter different section)

= 1- P(Both enter same section)

117
33
_16
33
i : 1
P{Bom enter different secnon] o

Probability Ex 31.5 Q35

100

C, ways.



Probability of getting six in anytoss of a dice = %

Probability of not getting six in anytoss of a dice =

av|w

Aand B toss the die alternatively.
Hence probability of A's win

=P(A) + P(ABA) + P(ABABA) + P(ABABABA) + .......

:i ixixi i ixixixi+ixixixixixixi+ .....
6 5] 3 6 6 6 6 6 6 6 6 5] ) 6 5] 6
2 4 6
F SUEN S VS T F—.
6 6) 6 6) 6 6) 6
=_1/6 _1 36_6
1-(s/6) 6 11 11
Similarly, probability of B's win
=P(AB) + P(ABAB) + P(ABABAB) +......
.5,1,5,5,5,1,5 5 5 .5.5 1,
6 6 6 6 &) 6 6 6 6 6 6 6
2 4 3
SR N EL I N ES ERE I EL 1
6 6 6) 6 6 6) 6 6 6) 6 6
IV
- "% _5 ,36_5
1_112 36 11 11
3

Since the probabhilities are not equal,
the decision of the refree was not a fair one.





